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माÚयǓमक िश¢ा परȣ¢ा  
(Secondary Education Examinations - SEE) 

clgjfo{ :jf:Yo, hg;ª\Vof / jftfj/0f 
;do M @M!%             k"0ff{ª\s M &%  
                             ;d"x s                            11x1 = 11 

!=  pBdzLntf eg]sf] s] xf ]<  What is an entrepreneurship?  
@=  s'n k|hgg\ b/ s;/L kQf nufOG5 <  How can total fertility rate be calculated? 
#= lsg k[YjLnfO{ PSnf] lhljt u[x elgG5 < s'g} Ps sf/0f pNn]v ug{'xf];\ . 

Why is the earth called lonely living planet? Mention any one cause. 
$= GLOF sf] k"0f{ ?k n]Vg'xf];\ .  Write the full form of GLOF. 
%=  pRr dfgj ljsf; ;"rssf] dfg slt xf] < 

What is the value of high human development index? 
^=  k/–:yfgLo ;+/If0fsf s'g} Ps cf]6f pbfx/0fx¿ lbg'xf];\ . 

Give any one example of ex-situ conservation. 
&=  k]6sf] SofG;/ lgDTofpg] lhjf0f'sf] gfd s] xf] < 

What is the name of germ that causes stomach cancer? 
*=  ;'gf}nf xhf/ lbgx¿ sfo{qmd :j:y lzz'x¿sf nflu Pp6f k|efjsf/L sfo{qmd x'g'sf]  
   Ps sf/0f pNn]v ug{'xf];\ . 

Mention any one cause to Golden 1000 Days program is an effective program for health 
infants. Why? 

(= dBkfgsf s'g} Ps sf/0f pNn]v ug{'xf];\ .  Mention any one cause of alcoholism. 
!)= ;ls{g' eg]sf] s] xf] <  What  is choking? 
!!= ;k{ 8;fOsf] a]nf /ut r':g' xflgsf/s x'G5 . s'g} Ps sf/0f lbg'xf];\ . 

Sucking blood during snake bite is harmful. Give a reason. 

                             ;d"x v                            9x4 = 36 
!@= :jf:Yo, hg;+Vof tyf jftfj/0f lzIffsf] cfly{s kIfaf/] pNn]v ug{'xf];\ . 

Mention on economic aspect of HPE Education.       4 
!#= la=;+= @)%% ;fndf s'g} Ps zx/sf] s'n hg;+Vof @,^),))) lyof] . pQm jif{ #*)) hgf 

dflg; aflx/af6 To; ;x/df a;f]af; ug{ cfP / #))) hgf To; zx/af6 cGoGq 
a;fO{;/fO{ u/]/ uP eg] To; zx/sf] cfk|af;g b/ / s'n a;fO{;/fO{ b/ lgsfNg'xf];\ ._ 
The total population of a certain city in 2055 BS was 2,60,000. In that year, 3800 people came 
to the city for settlement and 3000 people migrated out from the city.   Calculate the                
in-migration rate and gross migration rate of the city.      
 2+2 
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cyjf 
 
hg;+Vof Joj:yfkgsf] kl/ro ;lxt o;sf pkfox¿ pNn]v ug{'xf];\ .  
Mention the measures of population management with its meaning.    1+3 

!$= lbuf] lasf; eg]sf] s] xf] < lbuf] lasf;sf s'g} b'O{ l;4fGtx¿af/] 5f]6s/Ldf JofVof ug{'xf];\ . 
What is sustainable development? Explain any two principles of it in brief.  1+1.5+1.5 

!%= jftfj/0f ;+/If0fsf k|d'v sfo{x¿ pNn]v ub}{ s'g} Pssf] 5f]6f] j0f{g ug{'xf];\ . 
List out the major functions of the environmental conservation and explain any one of them. 4 

!^= dfgj ljsf; ;"rsf+s / ef}lts u'0f:t/Lo hLjg ;"rsf+saLrsf rf/ leGgtfx¿ b]vfpg'xf];\ . 
Show the difference between HDI and PQLI.       4 

!&= :yfgLo ;d'bfodf h}ljs ljljwtf ;+/If0fsf s'g} rf/ cf]6f s[ofsnfkx¿ pNn]v ug{'xf];\ . 
Mention any four activities to conserve biodiversity of the local community.    4 
cyjf 
;+s6fkGg hLjhGt'x¿sf] ;+/If0fdf :yfgLoaf;Lsf] e"ldsfx¿ pNn]v ug{'xf];\ .  
Mention the roles of locals to conserve the endangered animals.     4 

!*= ;g]{ /f]u g;g]{ /f]ueGbf lsg km/s 5 < 
Why is communicable disease different from non-communicable disease?    2+2 

!(= ue{jtL dlxnfsf] x]/rfx s;/L ug{'kb{5 < s'g} rf/ cf]6f pkfox¿ pNn]v ug{'xf];\ .  
How should we take care of a pregnant woman? Mention any four measures.   4 

@)= dBkfgnfO{ lsg ;f+:s[lts ;d:ofsf] ?kdf lnO{G5 < k|dfl0ft ug{'xf];\ . 
Why is alcoholism considered as a cultural problem? Prove it.  
cyjf 
nfu' kbfy{ b'Jo{zgL lsg ljz]ifu/L o'jf k':tfdf a9L b]lvG5 <  
Why is generally young generation indulged in drug abuse?  

                             ;d"x u                            4x7 = 28 
@!= tLa| hg;+Vof j[l4 tkfO{sf] ;d'bfodf Pp6f 7"nf] ;d:of xf] . jftfj/0fLo / ;fdflhs 

;f+:s[lts kIfx¿df o;sf k|efjx¿ pNn]v ug{'xf];\ . 
        The rapid population growth is a problem in your community? Mention its impacts on 

environmental and socio-cultural aspects.        7 
@@= g]kfnsf tLg} cf]6f k|b]zx¿df ;dfg hg;+Vof ljt/0fsf nflu xfdLn] s] ug{'knf{ < pNn]v 

ug{'xf];\ . 
        What should we do for equal distribution of population in three regions of Nepal? Mention. 7 
@#= k/hLjL /f]ux¿sf s'g} ;ft cf]6f /f]syfdsf pkfox¿ pNn]v ug{'xf];\ . 
       Mention any seven preventive measures of worm diseases.     7 
@$= gjhft lzz' s;/L x]/rfx ug{'knf{ < s'g} ;ft cf]6f k|efjsf/L ;'emfjx¿ pNn]v ug{'xf];\ . 
       How should the newly born baby be cared? Mention any seven effective suggestions.  7 
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pQ/s'l~hsf 
;d"x s 

!= cfkm\g} ;|f]t–;fwg tyf nufgLdf Jofkf/–Joj;fo rnfpg] k|lqmof egL n]v]df c+s ! lbg]  

@= s'n k|hgg\ b/ ≠ pd]/ ljlzi6 k|hgg\ b/x¿sf] of]u x pd]/ cGt/ -%_    egL n]v]df c+s ! lbg]

              !))) 
#= kfgLsf] pknAwtf, xfjf, vfgf, tfk tyf k|sfz cflbdWo] s'g} Ps egL n]v]df c+s ! lbg] . 
$= Glacier Lake Outburst Flood  egL n]v]df c+s ! lbg] . 
%= )=&(( b]lv !=) egL n]v]df c+s ! lbg] .  
^= lrl8ofvfgf, g;{/L, ag:klt pBfg, cflbdWo] s'g} Ps egL n]v]df c+s ! lbg] .  
&= Helicobactor pylori egL n]v]df c+s ! lbg] . 
*= ue{jtL ePsf] ;dob]lv aRrf @ jif{ gk'u'~h]n cfdf tyf aRrfsf] laz]if x]/rfx ul/G5 egL 

n]v]df c+s ! lbg] . 
(= ;fyL ;+ut, ul/jL, clzIff, b]vfl;sL cflbdWo] s'g} Ps cf]6f sf/0f n]v]df c+s ! lbg] . 
!)= vfgf gnLdf vfBa:t' jf cGo s'g} a:t' c8\s]/ :jf;k|Zjf;df cj/f]w k'Ug' egL n]v]df c+s ! 

lbg] . 
!!= ;k{sf] ljifsf] k|efj lha|f] jf d'vsf cGo efu dfkm{t z/L/el/ kg{ ;Sg] ePsfn] egL n]v]df c+s 

! lbg] . 

;d"x v 
!@= :jf:Yo, hg;+Vof tyf jftfj/0f lzIffsf b'O{ cf]6f h}ljs / b'O{ cf]6f cfly{s kIfx¿ pNn]v u/]df 
c+s $ lbg] . 
!#= lbO{Psf] 
 s'n hg;+Vof (P) ≠ @,^),))) 
 a;fO{ ;/L cfPsf hg;+Vof (I) ≠ #*)) 
 a;fO{ ;/L uPsf hg;+Vof (O) ≠ #))) 

 cfk|jf;g b/ (IMR) = ? 
 s'n a;fO{;/fO{b/ (GMR) = ? 
cj,  
 ;'qfg';f/, 
 IMR = Ix1000 
      P 
  3800x1000 
  2,60,000 
  14.61 k|ltxhf/ 
km]l/, 
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 GMR = (I+O)x1000 
          p 
  (3800+3000)x1000 
       2,60,000 
  26.15 k|ltxhf/ 

cyjf 
   hg;+Vof Joj:yfkgsf] kl/ro lbPdf c+s ! lbg]  
   hg;+Vof Joj:yfkgsf s'g} tLg cf]6f pkfox¿ n]vL JofVof klg u/]df c+s # lbg]  
!$= lbuf] ljsf;sf] kl/efiff n]v]df c+s ! lbg]  

lbuf] ljsf;sf lgDgdWo] s'g} tLg cf]6f l;4fGtx¿sf] 5f]6f] JofVof u/]df c+s # lbg]  
s= h}ljs ljljwtfsf] ;+/If0f 
v= hg;+Vof j[l4 lgoG`0f 
u= kfl/l:ylts k|0ffnL ;+/If0f 
3= ;f+:s[lts w/f]x/x¿sf] ;+/If0f cflb . 

!%= jftfj/0f ;+/If0fsf lgDg k|d'v sfo{x¿ pNn]v u/]df c+s @ lbg] 
pQm sfo{x¿dWo] s'g} Pssf] JofVof u/]df c+s @ lbg]  
s= agh+unsf] ;+/If0f 
v= kmf]xf]/d}nf Joj:yfkg 
u= e"–;+/If0f 
3= k|b'if0f lgoG`0f cflb .  

!^= dfgj ljsf; ;"rsf+s / ef}lts u'0f:t/Lo hLjg ;"rsf+saLrsf rf/ leGgtfx¿ pNn]v u/]df 
c+s $ lbg] 

    h:t}M kl/ro, cfwf/x¿, ;'qfwf/ ldlt, cflbsf cfwf/df leGgtf b]vfPdf  
!&= :yfgLo ;d'bfodf h}ljs ljljwtf ;+/If0fsf s'g} rf/ cf]6f s[ofsnfkx¿ pNn]v u/]df c+s $  

lbg] . h:t}M 
s= agh+unsf] ;+/If0f 
v= kmf]xf]/d}nf Joj:yfkg 
u= e"–;+/If0f 
3= k|b'if0f lgoG`0f 
ª= hgr]tgf cflb .  
cyjf 

   ;+s6fkGg hLjhGt' ;+/If0fdf :yfgLoaf;Lx¿sf s'g} rf/ e"ldsfx¿ pNn]v u/]df c+s $ lbg] .  
    h:t}M  

s= agh+unsf] ;+/If0f 
v= kmf]xf]/d}nf Joj:yfkg 
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u= e"–;+/If0f 
3= k|b'if0f lgoG`0f 
ª= hgr]tgf  
r= ;'/Iff Joj:yf cflb .  

!*= ;g]{ / g;g]{ /f]ux¿aLrsf s'g} $ leGgtfx¿ pNn]v u/]df c+s $ lbg] . 
!(= ue{jtL dlxnfsf] x]/rfx ug]{ s'g} rf/ cf]6f pkfox¿ pNn]v u/]df c+s $ lbg] .  
    h:t}M ;/;kmfO{, lgoldt :jf:Yo k/LIf0f, vf]k, ;Gt'lnt ef]hg cflb .  
@)= dBkfgnfO{ ;f+:s[lts ;d:ofsf] ?kdf lnO{g'sf sf/0fx¿ s'g} rf/ cf]6f ts{x¿ k|:t't u/]df c+s 

$ lbg] .   
   h:t}M ef]h et]/, lkslgs tyf hd36, rf8–kj{, cfltYo ;Tsf/ cflb .  
  cyjf 
   nfu' kbfy{ b'Jo{zgL ljz]ifu/L o'jf k':tfdf a9L b]lvg'sf s'g} rf/ cf]6f ts{x¿ k|:t't u/]df c+s  

$ lbg] .  
   h:t}M ;lhn} km:g ;Sg] cj:yf, cTolws kl/jt{gx¿sf] cj:yf, hf]z / xf]; ;Gt'ng gePsf] 

cj:yf, /dfO{nf] w]/} ug]{ pd]/ cflb .   
 

;d"x u 
@!= jftfj/0fLo / ;fdflhs ;f+:s[lts kIfx¿df hg;+Vof j[l4n] kf/]sf k|efjx¿ s'g} ;ft cf]6f 

pNn]v u/L a'+bfut ?kdf JofVof u/]df c+s & lbg] h:t}M 
s= k|b'if0f,  
v= ;fdflhs ck/fwx¿df j[l4, 
u= ag km8fgL jf cltqmd0f, 
3= ;f+:s[lts w/f]x/x¿sf] rf]/L k}7f/L, 
ª= h+unL hgfj/x¿ tyf jg:kltx¿sf] rf]/L–lzsf/Ldf a[l4, 
r= ;fdflhs /Lltl/jfhdf ljrng cflb .  

@@= g]kfnsf tLg} cf]6f e]ux¿ ;dfg hg;+Vof ljt/0fsf nflu xfdLn] lgDg s'/fx¿ ug{'knf{ egL 
n]v]df c+s & lbg] h:t}M  
s= ;a} e]ux¿sf] ;dfg'kflts lasf;df hf]8, 
v= a;fO{;/fO{df lgoGq0f, 
u= kl/jf/ lgof]hg tyf cGo hgr]tgfsf] ;d'lrt Joj:yf, 
3= hGdb/ tyf d[To'b/df cfjZos Joj:yfkg cflb ldNg] ts{x¿ .  

@#= k/hLjL /f]ux¿sf s'g} ;ft cf]6f /f]syfdsf pkfox¿ lgDg s'/fx¿ n]v]df c+s & lbg] . h:t}M 
s= jftfj/0fLo ;/;kmfO{df laz]if Wofg, 
v= h'Qf–rKknsf] plrt k|of]u, 
u= xft w'g], g'xfpg] h:tf JolQmut ;/;kmfO{df hf]8, 
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3= :j:ys/ tyf tfhf vfgkfgdf hf]8, 
ª= ;kmf tyf z'4 vfg]kfgLsf] Joj:yf, 
r= 9n–lgsf;sf] plrt Joj:yfkg, 
5= Aofks hgr]tgf clea[l4 cflb .  

@$= gjhft lzz'sf] x]/rfx ug{ lgDg ;'emfjx¿ pNn]v u/]df c+s & lbg] . h:t}M 
s= ;Gt'lnt ef]hg, 
v= lgoldt :jf:Yo hf+r, 
u= ;/;kmfO{df laz]if Wofg, 
3= ;do cg';f/ vf]k, 
ª= 3/kl/jf/ ljz]ifu/L >Ldfg\sf] 7"nf] ;xof]u  
r= df};d cg';f/sf] nQf–sk8f cflb .  


